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תרגילים בנושא A/D ו – D/A
מרצה : צביקה פופקו
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תשובה: 1V





תשובות





ב. 3V





ג. רזולוציה-  0.2V 


  


  רמות מתח - 16





תשובות





א.     VREF1=0.7143V


 


VREF7=9.286V 


     


ב.    Q1=Q2=0   





      Q3=Q4=Q5=Q6=Q7=1  





   A2A1A0=101     





  D2D1D0=010      





ג.   VA<9.286V> 7.8571V  





ד.  255





תשובות  





ב. 1.62V 





ג. 5.1V  ,  t = 113.839µsec  





ד.  R=20mV  . הגדלת הרזולוציה פי 8 – הוספת 3 סיביות











תשובות





8kΩ  


>VO>07.5  





תשובות 





ב. 39.1mV  





ג. 15810=(10011110)2 





ד. 158µsec








תשובות  





ב. t 1= 9999, t2 = 4500 





ג. 7.25 msec





תשובות  





ב. R = 0.25V 





   VAmax  = 3.75V












